Mathematics 172

Quiz 12 Name: {/\’-v: \v4
You must show your work to get full credit.

(1) A population of trout in a lake is fished so that the population is reduced by 15% a year. At
what rate, in trout/year, should lake be stocked to keep a stable population of 20,000 trout?
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(2) A population of 20 rats colonizes an island. After 4 months there are 100 rats.
(a) What is the intrinsic growth rate, 7, of the rat population?

Twss :; couhuwsws erpormdal - ,402%4
gVow Ty B

=
M) = e’ = 20e”
Mig)= 20’ = /00
et = Jov/20
tr o= Laif02)20) 60
~ = ,@m(/adﬂ-o}/‘/ -

(b) How long, in months, until there are 1,000 rats?
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